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CIRCLES

Questions

1. In the adjoining figure ,  Calculate : 


Watch Video Solution

∠AOC = 110∘ ,

∠ADC

2. In the adjoining figure ,  Calculate : 


Watch Video Solution

∠AOC = 110∘ ,

∠ABC

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GQSlandoVEJb
https://dl.doubtnut.com/l/_XQXtnVhvrSe3


3. In the adjoining figure ,  Calculate : 


Watch Video Solution

∠AOC = 110∘ ,

∠OAC

4. In the adjoining figure PQ = PR and  Find 

Watch Video Solution

∠PRQ = 70∘ ∠QPR.

5. The given figure shows a circle through the points A,B,C and D . If

 , find :  

Watch Video Solution

∠BAC = 67∘ ∠DBC + ∠DCB.

https://dl.doubtnut.com/l/_XQXtnVhvrSe3
https://dl.doubtnut.com/l/_V1z5zmyT0GUb
https://dl.doubtnut.com/l/_NiSnfM6vlV13
https://dl.doubtnut.com/l/_ZiPFBFn4HKKo


6. In the given figure BC//DE and O is the centre of the circle . If

 , find in terms of  the value of . 


Watch Video Solution

∠CDE = x ∘ x ∘ ∠BAC

7. In the adjoining figure, AC is diameter of the circle AB = BC and

 Calculate : 

 


∠AED = 118∘ .

∠DEC

https://dl.doubtnut.com/l/_Futw2TUiebmm
https://dl.doubtnut.com/l/_487mPfIl0aLa


Watch Video Solution

8. In the adjoining figure, O is centre of the circle chords AC and BD are

perpendicular to each other, . Show that∠OAB = a and ∠DBC = b

https://dl.doubtnut.com/l/_487mPfIl0aLa
https://dl.doubtnut.com/l/_QImUwOdj1NTu


a= b 

Watch Video Solution

9. In the adjoining figure , ABCD is a cyclic quadrilateral

 Calculate the numerical value of b. 


Watch Video Solution

, ∠CBQ = 48∘ and a = 2b

https://dl.doubtnut.com/l/_QImUwOdj1NTu
https://dl.doubtnut.com/l/_uNgWYb4YnGdy


10. In the given figure  


 . Find 


(i)  


(ii)  

Hence , show that AC is a diameter. 

Watch Video Solution

∠BAD = 80∘

∠ABD = 55∘ and ∠BDC = 45∘ ,

∠BCD

∠ADB

11. In a circle, with centre O ,a diameter AB and a chord AD are drawn .

Another circle is drawn with AO as diameter to cut AD at C. Prove that :

BD = 

Watch Video Solution

2 × OC

12. In the figure given bellow , O is the centre of the circle and

, Prove that  
∠AOC = 160∘ : 3∠y − 2∠x = 140∘

https://dl.doubtnut.com/l/_uNgWYb4YnGdy
https://dl.doubtnut.com/l/_6ORR8zGZ48NQ
https://dl.doubtnut.com/l/_FgOt0YXY5Drt
https://dl.doubtnut.com/l/_QVaBF8ircWtB


Watch Video Solution

13. Two unequal circles with centres A and B intersect each other at

points C and D. The centre B of the smaller circles lies on the

circumference of the bigger circle with centre A. If  find

in terms of x, the measure of angle DAC . 
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Watch Video Solution

∠CMD = x ∘ ,

14. The given figure shows a triangle ABC with

 Bisectors of angles A,B and C

meet the circumcircle of the  at points P,Q and R respectively .

∠BAC = 56∘ and ∠ABC = 64∘ ,

ΔABC

https://dl.doubtnut.com/l/_QVaBF8ircWtB
https://dl.doubtnut.com/l/_TPPugLFBMfqA
https://dl.doubtnut.com/l/_hLP6pH0OLbms


Find the measure of  


Watch Video Solution

∠QPR.

15. In the given figure ,I is the incentre of triangle ABC . AI produced

meets the circumcircle of the triangle ABC at point D. if

 find : ∠BAC = 50∘ and ∠ABC = 70∘ ,

https://dl.doubtnut.com/l/_hLP6pH0OLbms
https://dl.doubtnut.com/l/_T6XAzi4C6M3s


(i)  
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Watch Video Solution

∠BCD(ii)∠ICD(iii)∠BIC

16. In the given figure , the lengths of arc AB and are BC arc in the ratio

3: 2 if  find 


 


Watch Video Solution

∠AOB = 96∘ ,

(i)∠CAB(ii)∠ADB

https://dl.doubtnut.com/l/_T6XAzi4C6M3s
https://dl.doubtnut.com/l/_tROVnDC3Rsv2
https://dl.doubtnut.com/l/_YhnpKa3xrqar


Exercise 17 A

17. If two sides of a cyclic quadrilateral are parallel , prove that the

other two sides are equal

Watch Video Solution

1. In the given figure. O is the centre of the circle. 

are  respectively . Find  . Show your steps of

working. 

Watch Video Solution

∠OAB and ∠OCB

30∘ and 40∘ ∠AOC

2. In the given figure  


(i) prove that AC is a diameter of the circle 

∠BAD = 60∘ , ∠ABD = 70∘ ∠BDC = 45∘

https://dl.doubtnut.com/l/_YhnpKa3xrqar
https://dl.doubtnut.com/l/_BhOvab8w4Wro
https://dl.doubtnut.com/l/_OU5TWOdzNVH4


(ii) Find  
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Watch Video Solution

∠ACB

3. Given O is the centre of the circle and  , Calculate the

value of 

(i)  


(ii) . 


Watch Video Solution

∠AOB = 70∘

∠OCA.

∠OAC

4. In each of the following figure. O is the centre of the circle. Find the

values of a,b and c. 

Watch Video Solution

https://dl.doubtnut.com/l/_OU5TWOdzNVH4
https://dl.doubtnut.com/l/_hin5n2J2ylFm
https://dl.doubtnut.com/l/_M4eayeGkwZ2x


5. In each of the following figure. O is the centre of the circle . Find the

values of a,b c. and d 

Watch Video Solution

6. In the figure , AB is common chord of the two circles. If AC and AD are

diameter. Prove that D,B and C are in a straight line.  are theO1 and O2

https://dl.doubtnut.com/l/_MkJQ5wJb6XEK
https://dl.doubtnut.com/l/_tCy6Dm81Kuth


centres of two circles. 

Watch Video Solution

7. In the figure , given below. Find 

(i)  


(ii)  


(iii)  

Show steps of your working. 

Watch Video Solution

∠BCD

∠ADC

∠ABC.

8. In the given figure O is the centre of the circle If

 , find : 

(i)  


(ii)  

∠AOB = 140∘ and ∠OAC = 50∘

∠ACB

∠OBC

https://dl.doubtnut.com/l/_tCy6Dm81Kuth
https://dl.doubtnut.com/l/_wbYpu8Nu4P7e
https://dl.doubtnut.com/l/_TXGXR6PiXhDA


(iii)  

(iv)  


Watch Video Solution

∠OAB

∠CBA

9. Calculate : 

(i)  


(ii)  


(iii)  


Watch Video Solution

∠CDB

∠ABC

∠ACB

10. In the figure , given below .ABCD is a cyclic quadrilateral in which

 Find : 

(i)  

(ii)  


∠BAD = 75∘ , ∠ABD = 58∘ and ∠ADC = 77∘ ,

∠BDC,

∠BCD.

https://dl.doubtnut.com/l/_TXGXR6PiXhDA
https://dl.doubtnut.com/l/_qu2tCdfwwZj7
https://dl.doubtnut.com/l/_A9N4Wr9IGRLT


(iii)  

Watch Video Solution

∠BCA.

11. In the following figure , O is centre of the circle and  is

equilateral Find : 

(i)  

(ii)  


Watch Video Solution

ΔABC

∠ADB

∠AEB

12. Given :  


and  Find the value of 

. 


Watch Video Solution

∠CAB = 75∘

∠CBA = 50∘

∠DAB + ∠ABD

https://dl.doubtnut.com/l/_A9N4Wr9IGRLT
https://dl.doubtnut.com/l/_HkBkDmBDUP3I
https://dl.doubtnut.com/l/_YnZfohMM6DNS


13. ABCD is a cyclic quadrilateral in a circle with centre O. 

If  , find ` angle BAC ?

Watch Video Solution

∠ADC = 130∘

14. In the figure , given alongside , AOB is a diameter of the circle and

 Find  


Watch Video Solution

∠AOC = 110∘ ∠BDC.

15. In the following figure. O is the centre of the circle . 

 and 

 

Find . 


∠AOB = 60∘

∠BDC = 100∘

∠OBC

https://dl.doubtnut.com/l/_YnZfohMM6DNS
https://dl.doubtnut.com/l/_vCBE1uR8AgGO
https://dl.doubtnut.com/l/_SiFrYJt1NdXd
https://dl.doubtnut.com/l/_Rau72YkHlkYg


Watch Video Solution

16. In cyclic quadrilateral ABCD ,  


 


Calculate : 

(i)  


(ii)  


(iii)  


Watch Video Solution

∠DAC = 27∘

∠ADB = 33∘

∠DBC

∠DCB

∠CAB.

17. In the figure given alongside ,AB and CD are straight lines thorugh

the centre O of a circle. If  , find ∠AOC = 80∘ and ∠CDE = 40∘

https://dl.doubtnut.com/l/_Rau72YkHlkYg
https://dl.doubtnut.com/l/_LymCGiKxWxNB
https://dl.doubtnut.com/l/_paWgLXMCv1Fi


 

Watch Video Solution

∠DCE

18. In the given figure AC is a diemeter of a circle O, A circle is described

on AO as diameter AE, a chord of the larger circle , intersects the

smaller circle at B . 

Prove that : AB = BE 

Watch Video Solution

https://dl.doubtnut.com/l/_paWgLXMCv1Fi
https://dl.doubtnut.com/l/_dmBGL8OUefiO


19. In the following figure . 

(i) if  


(ii) Prove that AD is parallel to PE. 
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(b) ABCD is a parallelogram. A circle through vertices A and B meets

side BC at point P and side AD at point Q . Show that quadrilateral

PCDQ is cyclic.

Watch Video Solution

∠BAD = 96∘ ,  find  ∠BCD and ∠BFE.

20. Prove that : 

the parallelogram , inscirbed in a circle , is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_dmBGL8OUefiO
https://dl.doubtnut.com/l/_WMr9jwbri1uT
https://dl.doubtnut.com/l/_ZoBCUFiNylo6


21. Prove that : 

the rhombus , inscribed in a circle is a square.

Watch Video Solution

22. In the given figure AB = AC . Prove that DECB is an isoseles

traqezium. 

https://dl.doubtnut.com/l/_fHDm08sB8Xnp
https://dl.doubtnut.com/l/_S2kOylKrb4Dd


Watch Video Solution

23. Two cirlces intersect at P and Q . Through P diameter PA and PB of

the two circles are drawn. Show that the points A,Q and B are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_S2kOylKrb4Dd
https://dl.doubtnut.com/l/_UeSYzZnQ1Sp8


24. The figure given below, shows a circle with centre O. 

Given  


Find the relationship between a and b. 

(ii) Find the measure of angle OAB ,if OABC is a parallelogram 

Watch Video Solution

: ∠AOC = a and ∠ABC = b

https://dl.doubtnut.com/l/_fscrXRbcS3PZ


25. Two chords AB and CD intersect at P inside the circle . Prove that the

sum of the angles substended by the arcs AC and BD at the centre O is

equal to twice the angle APC.

Watch Video Solution

26. In the given figure ,RS is a diameter of the circle NM is parallel to RS

and  Calculate : 


(i) 


(ii)  


Watch Video Solution

∠MRS = 29∘

∠RNM.

∠NRM

27. In the figure , given alongside. AB //CD and O is the centre of the

circle. If  find the angle AEB Give reasons in support of∠ADC = 25∘

https://dl.doubtnut.com/l/_3ORv5qYQIhBG
https://dl.doubtnut.com/l/_2DrWC6psVVFn
https://dl.doubtnut.com/l/_viLrIpCB49p9


your answer. 

Watch Video Solution

28. Two circles intersects at P and Q. through P, a straight line APB is

drawn to meet the circles in A and B. Through Q,a straight line is drawn

to meet the circles at C and D . Prove that AC is parallel to BD. 

Watch Video Solution

29. ABCD is a cyclic quadrilateral in which AB and DC on being produced

, meet at P such that PA = PD. Prove that AD is parallel to BC .

Watch Video Solution

https://dl.doubtnut.com/l/_viLrIpCB49p9
https://dl.doubtnut.com/l/_SO92XuKrlcpA
https://dl.doubtnut.com/l/_gvmf8yyXXXqZ


30. AB is a diameter of the circle APBR at shown in the figure. APQ and

RBQ are straight lines 

Find : 

(i) 


(ii)  


(iii)  


Watch Video Solution

∠PRB

∠PBR

∠BPR.

31. In the given figure . SP is bisector of  and PQRS is a cyclic

quadrilateral . Prove that SQ = SR 

∠RPT

https://dl.doubtnut.com/l/_t9ywUL8Reypa
https://dl.doubtnut.com/l/_OL2SmfWYYFlE


Watch Video Solution

32. In the figure O is the centre of the circle

. Calculate the sizes of the angles CEB

and OCE. 

Watch Video Solution

∠AOE = 150∘ , ∠DAO = 51∘

https://dl.doubtnut.com/l/_OL2SmfWYYFlE
https://dl.doubtnut.com/l/_oHnkFevVN9Xy


33. In the figure , given below P and Q are the centres of two circles

intersecting at B and C . ACD is a straight line. Calculate the numerical

value of x. 

Watch Video Solution

34. The figure shows two circles which intersects at A and B . The centre

of the smaller circle is O and lies on the circumference of the Calculate.

In terms of  , the value of 


(i) abtuse  

(ii)  

Give reassons for your answers clearly. 

Watch Video Solution

a ∘

∠AOB

∠ADB

https://dl.doubtnut.com/l/_oHnkFevVN9Xy
https://dl.doubtnut.com/l/_WfjYD7DfWtb1
https://dl.doubtnut.com/l/_vABxjhFYUWyQ
https://dl.doubtnut.com/l/_SJ5OgHzCqq4A


35. In the given figure ,O is the centre of the circle and 

Calculate the values of x and y. 

Watch Video Solution

∠DAB = 50∘

36. In the given figure. A is the centre of the circle , ABCD is a

parallelogram and CDE is a straight line. 

Prove that  
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Watch Video Solution

: ∠BCD = 2∠ABE

37. ABCD is a cyclic quadrilateral in which AB is parallel to DC and AB is

a diameter of the circle. Given  , Calculate 

(i)  

(ii) 

Watch Video Solution

∠BED = 65∘

∠DAB

∠BDC

https://dl.doubtnut.com/l/_SJ5OgHzCqq4A
https://dl.doubtnut.com/l/_FP9zZ2C0lPuH
https://dl.doubtnut.com/l/_l9NOawgBsCfe


38. In the given figure AB is a diameter of the circle. Chord ED is parallel

to AB and  Calculate 

 


(ii)  


Watch Video Solution

∠EAB = 63∘

(i)∠EBA

∠BCD

39. In the given figure AB is a diameter of the circle with centre O. DO is

parallel to CB and  Calculate : 


(i)  

(ii)  

(iii)  


(iv)  


Also , show that the  AOD is an equilateral triangle. 

∠DCB = 120∘

∠DAB

∠DBA

∠DBC,

∠DBC

Δ

https://dl.doubtnut.com/l/_l9NOawgBsCfe
https://dl.doubtnut.com/l/_EmD1x8CDcsjB
https://dl.doubtnut.com/l/_WMdQ3UXpaQ2U


Watch Video Solution

40. In the given figure, I is the incentre of  BI when produced

meets the circumcircle of  at D. Given 

 Calculate: 

(i)  


(ii)  


(iii)  


 


Watch Video Solution

ΔABC

ΔABC

∠BAC = 55∘ and ∠ACB = 65∘ ,

∠DCA.

∠DAC

∠DCI.

∠AIC.

41. A triangle ABC is inscribed in a circle. The bisector of angles BAC,

ABC and ACB meet the circumcircle of the triangle at points P,Q and R

respectively . Prove that : 

(i)  


(ii) . 

∠ABC = 2∠APQ.

∠ACB = 2∠APR

https://dl.doubtnut.com/l/_WMdQ3UXpaQ2U
https://dl.doubtnut.com/l/_rvVA7A6H1M66
https://dl.doubtnut.com/l/_AlMOcOYeAfw3


(iii)  

Watch Video Solution

∠QPR = 90∘ − ∠BAC.
1

2

42. Calculate the angles x,y and z if 
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Watch Video Solution

= =
x

3

y

4

z

5

43. In the given figure , AB = AC = CD and  . Calculate : 


(i) 


(ii)  


Watch Video Solution

∠ADC = 38∘

∠ABC

∠BEC

https://dl.doubtnut.com/l/_AlMOcOYeAfw3
https://dl.doubtnut.com/l/_4OIZj2QbGtMO
https://dl.doubtnut.com/l/_z8nR6J80aG1C


44. In the given figure ,AC is the diameter of circle , centre O. Chord BD

is perpendicular to AC. Write down angles p,q and r in terms of x. 

Watch Video Solution

45. In the given figure ,AC is the diameter of the circle with centre O,CD

and BE are parallel Angle  Calculate 


(i) Angle BEC 

(ii) Angle BCD, 

(iii) Angle CED 

Watch Video Solution

∠AOB = 80∘ and ∠ACE = 10∘

46. In the given figure . AE is the diamter of the circle . Write down the

numerical value of  Give reasons for your answers. ∠ABC + ∠CDE.

https://dl.doubtnut.com/l/_xHpjyXbWom7U
https://dl.doubtnut.com/l/_E0v7vX71EXeg
https://dl.doubtnut.com/l/_8Sm1gnVx3ISg


Watch Video Solution

47. In the given figure. AOC is a diameter and AC is parallel to ED . If

 calculate  


Watch Video Solution

∠CBE = 64∘ ∠DEC.

48. Use in the given figure to find : 

(i)  


(ii)  

Watch Video Solution

∠BAD.

∠DQB

https://dl.doubtnut.com/l/_8Sm1gnVx3ISg
https://dl.doubtnut.com/l/_0xHyhN1TNbvv
https://dl.doubtnut.com/l/_hKYv9YHbJkDe


49. In the given figure , AOB is a diameter and DC is parallel to AB . If

 find (in terms of x) the values of : 

(i)  


(ii)  


(iii)  


(iv)  


Watch Video Solution

∠CAB = x ∘ ,

∠COB

∠DOC

∠DAC

∠ADC.

50. In the given figure ,AB is the diameter of a circle with centre O.

 Find : 

(i)  

(ii)  

Watch Video Solution

∠BCD = 130∘

∠DAB

∠DBA

https://dl.doubtnut.com/l/_eAUMZlFh5cAQ
https://dl.doubtnut.com/l/_5Mhbq0lZFy4k
https://dl.doubtnut.com/l/_7nko8e64OnGm


51. In the given figure, PQ is the diameter of the circle whose centre is

O. Given  Calculate  


Watch Video Solution

∠ROS = 42∘ ∠RTS.

52. In the given figure, PQ is a diameter Chord SR is parallel to PQ .

Given that  Calculate: 


(i)  


(ii)  

Watch Video Solution

∠PQR = 58∘

∠RPQ

∠STP

53. AB is the diameter of the circle with centre O. OD is parallel to BC

and  

Calculate the numerical values of : 

(i)  

∠AOD = 60∘

∠ABD

https://dl.doubtnut.com/l/_7nko8e64OnGm
https://dl.doubtnut.com/l/_65PurqOoHpYh
https://dl.doubtnut.com/l/_I2fucJAtHO2w


(ii)  


(iii) . 


Watch Video Solution

∠DBC

∠ADC

54. In the given figures , the centre O of the small circle lies on the

circumference of the bigger circle. If

 find : 

(i)  

(ii)  


(iii)  


(iv)  


Watch Video Solution

∠APB = 75∘ and ∠BCD = 40∘

∠AOB

∠ACB.

∠ABD.

∠ADB.

https://dl.doubtnut.com/l/_I2fucJAtHO2w
https://dl.doubtnut.com/l/_3W2h0Q5zMzi0


55. In the given figures ,

, Find : 

(i)  


(ii)  

Hence , show that AC is a diameter 

Watch Video Solution

∠BAD = 65∘ , ∠ABD = 70∘ and ∠BDC = 45∘

∠BCD

∠ACB

56. In a cyclic quadrilateral ABCD  angle B : angle

D = 1 : 5 ` find each angle of the quadrilateral

Watch Video Solution

∠A : ∠C = 3: 1 and

57. The given figures shows a circle with centre O and  

 

Calculate the measure of : 

∠ABP = 42∘

https://dl.doubtnut.com/l/_Ik2DbnIR3fFQ
https://dl.doubtnut.com/l/_AVVQFZdcNJ0g
https://dl.doubtnut.com/l/_aNRSk0GwXYFW


Exercise 17 B

(i)  

(ii) 

Watch Video Solution

∠PQB

∠QPB + ∠PBQ

58. In the given figure, M is the centre of the circle Chords AB and CD

are perpendicular to each other. If ` angle (i) express  in terms

of x. 

(ii) express  in terms of y . 

(iii) Prove that : x=y 

Watch Video Solution

∠AMD

∠ABD

1. Prove in a cylic - trapezium the non - parallel sides are equal and the

diagonals are also equal .

https://dl.doubtnut.com/l/_aNRSk0GwXYFW
https://dl.doubtnut.com/l/_iYMfUBnsT8Qm
https://dl.doubtnut.com/l/_Zn5tECgwZNc8


Watch Video Solution

2. In the followoing figure , AD is the diameter of the circle with centre

O. Chords AB,BC and CD are equal .If  Calculate : 


(i)  


(ii)  
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Watch Video Solution

∠DEF = 110∘ ,

∠AEF .

∠FAB

3. If the sides of a cyclic- quadrilateral are parallel : prove that : 

(i) its other two sides are equal 

(ii) its diagonals are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_Zn5tECgwZNc8
https://dl.doubtnut.com/l/_2R549gqARh9v
https://dl.doubtnut.com/l/_tp3ZoDsPd5bj


4. The given figures shows a circle with centre O. Also , PQ = QR = RS and

 Calculate: 


(i)  


(ii)  

(iii)  
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Watch Video Solution

∠PTS = 75∘

agn ≤ POS

∠QOR

∠PQR

5. In the given figure. AB is a side of a regular six- sided polygon and AC

is a side of a regular eight - sided polygon inscribed in the circle with

centre O. Calculate the sizes of : 

(i)  

(ii)  


(iii)  


Watch Video Solution

∠AOB

∠ACB.

∠ABC.

https://dl.doubtnut.com/l/_BdLR4VY8xZzy
https://dl.doubtnut.com/l/_iXyUVOWoGLcS


6. In a regular pentagon ABCDE inscribed in a circle . Find the ratio

between angle ADE and angle ADC.

Watch Video Solution

7. In the given figure AB 

 Calculate : 


(i)  


(ii)  


(iii) . 


Watch Video Solution

= BC = CD and ∠ABC = 132∘

∠AEB

∠AED

∠COD

8. In the figure , O is the centre of the circle and the length of are AB is

twice the length of are BC. If angle AOB =  find : 

(i)  


108∘ ,

∠CAB

https://dl.doubtnut.com/l/_iXyUVOWoGLcS
https://dl.doubtnut.com/l/_mKrUE398Kn6C
https://dl.doubtnut.com/l/_7LNbeEjaexm2
https://dl.doubtnut.com/l/_CQjBlT8wyfO9


(ii)  

Watch Video Solution

∠ADB

9. The figure shows a circle with centre O.AB is the side of regular

pentagon and AC is the side of regular hexagon. 

Find the angles of triangle ABC. 

Watch Video Solution

10. In the given figure , BD is a side of a regular hexagon. DC is a side of

a regular pentagon and AD is a diameter , Calculate: 

(i)  


(ii)  

(iii)  


∠ADC,

∠BDA

∠ABC

https://dl.doubtnut.com/l/_CQjBlT8wyfO9
https://dl.doubtnut.com/l/_OdHGJOCxSQZw
https://dl.doubtnut.com/l/_eIjD9JCE2pZb


Exercise 17 C

(iv)  


Watch Video Solution

∠AEC

1. In the given circle with diameter AB, find the value of x. 

Watch Video Solution

https://dl.doubtnut.com/l/_eIjD9JCE2pZb
https://dl.doubtnut.com/l/_MP2X6zfDU9DH


2. In the given figure , ABC is a triangle in which  . Show

that BC is equal to the radius of the circumcircle of the traiangle ABC ,

whose centre is O. 

Watch Video Solution

∠BAC = 30∘

3. Prove that the circle drawn on any one of the equal sides of an

isosceles triangle as diameter bisects the base.

Watch Video Solution

https://dl.doubtnut.com/l/_MP2X6zfDU9DH
https://dl.doubtnut.com/l/_7iWb8tROzRvF
https://dl.doubtnut.com/l/_YzqRi6HAZ6wO
https://dl.doubtnut.com/l/_iWxtcXdm50ZI


4. In the given figures, chord ED is parallel to diameter AC of the circle .

Given  calculate  


Watch Video Solution

∠CBE = 65∘ ∠DEC

5. The quadrilateral formed by angle bisectors of a cyclic quadrilateral

is also cyclic.

Watch Video Solution

https://dl.doubtnut.com/l/_iWxtcXdm50ZI
https://dl.doubtnut.com/l/_XWIgZ0a6qZMQ


6. In the figure  is a diameter of the circle .

Calculate : 

(i)  


(ii)  


(iii)  


Watch Video Solution

∠DBC = 58∘ , BD

∠BDC

∠BEC

∠BAC

7.  and 
 are points on equal sides  and 
 of an isosceles

triangle 
 such that 
 . Prove that 
 are

concylic.

Watch Video Solution

D E AB AC

ABC AD = AE B, C, D, E

8. In the given figure ,ABCD is a cyclic quadrilateral .AF is drawn parallel

to CB and DA is produced to point E. If ∠ADC = 92∘ ∠FAE = 20∘ ,

https://dl.doubtnut.com/l/_RbZlZbkNItX2
https://dl.doubtnut.com/l/_XrGzAvlLASAR
https://dl.doubtnut.com/l/_NhrGavT0DPRo


determine  Give reason in support of your answer. 


Watch Video Solution

∠BCD.

9. If I is the incentre of triangle ABC and AI when produced meets the

circumcircle of triangle ABC in point D. If

 Calculate : 

(i)  


(ii)  


(iii)  


Watch Video Solution

∠BAC = 66∘ and ∠ABC = 80∘

∠DBC

∠IBC

∠BIC

10. In the given figure ,AB = AD = DC = PB and  Determine

in terms of x: 

(i)  

∠DBC = x ∘

∠ABD

https://dl.doubtnut.com/l/_NhrGavT0DPRo
https://dl.doubtnut.com/l/_jBE4s35pkI4V
https://dl.doubtnut.com/l/_Rg6kFDnxTjWx


(ii)  

Hence or otherwise , prove that AP is parallel to DB. 

Watch Video Solution

∠APB

11. In the given figure , ABC , AEQ and CEP are straight lines . Show that

 are supplementrary. 


Watch Video Solution

∠APE and ∠CQE

12. In the given figure. AB is the diameter of the circle with centre O. 

angle ADC = 32 ^(@) , ` find angle BOC.

Watch Video Solution

(##SELRKBICSEMATX _ C17E04012 _ Q01. png  width=80 % > If

https://dl.doubtnut.com/l/_Rg6kFDnxTjWx
https://dl.doubtnut.com/l/_z51bi2uXaoXO
https://dl.doubtnut.com/l/_9ioYFGPxpLmb


13. In a cyclic -quadrilateral PQRS angle PQR  , Sides SP and RQ

produced meet at point A whereas sides PQ and SR produced meet at

point B. If . find angles A and B

Watch Video Solution

= 135∘

∠A : ∠B = 2: 1

14. In the following figure , ABCD is a cyclic quadrilateral in which AD is

parallel to BC . 

 


If the bisector of angle A meets BC at point E and given circle at point F,

prove that : 

https://dl.doubtnut.com/l/_ghmPimAmMXDP
https://dl.doubtnut.com/l/_YtiCGQ06JRKZ


(i) EF =FC 

(ii) BF = DF

Watch Video Solution

15. ABCD is a cyclic quadrilateral , Sides AB and DC produced meet at

point E , whereas sides BC and AD produced meet at point F. 

If  find the angles of the cyclic quadrilateral

ABCD.

Watch Video Solution

∠DCF : ∠F : ∠E = 3: 5: 4

16. The following figure shows a circle with PR as its diameter. 

If PQ= 7 cm and QR = 3RS = 6 cm . Find the perimeter of the cyclic

quadrilateral PQRS. 

Watch Video Solution

https://dl.doubtnut.com/l/_YtiCGQ06JRKZ
https://dl.doubtnut.com/l/_tIr8XAvHep8M
https://dl.doubtnut.com/l/_FA5YcuGYXtev


17. In the given figure AB is the diameter of a circle with centre O . If

chord AC = chord AD, prove that : 

(i) are  


(ii) AB is bisector of  


Further, if the length of are AC is twice the length of are BC , find : 

(i)  


(ii)  

Watch Video Solution

BC = areDB

∠CAD.

∠BAC

∠ABC

18. In cyclic quadrilateral ABCD , AD = BC

 , find : 

Watch Video Solution

, ∠BAC = 30∘ and ∠CBD = 70∘

∠BCD

https://dl.doubtnut.com/l/_8ew8C6CBAoHq
https://dl.doubtnut.com/l/_zYBuB44tfJ56


19. In cyclic quadrilateral ABCD , AD = BC

 , find : 

Watch Video Solution

, ∠BAC = 30∘ and ∠CBD = 70∘

∠BCA

20. In cyclic quadrilateral ABCD , AD = BC

 , find : 

Watch Video Solution

, ∠BAC = 30∘ and ∠CBD = 70∘

∠ABC

21. In cyclic quadrilateral ABCD , AD = BC,

 , find : angle ADC .

Watch Video Solution

∠BAC = 30∘ and ∠CBD = 70∘

https://dl.doubtnut.com/l/_W5VDq7SbAdac
https://dl.doubtnut.com/l/_vDflibzjqTx1
https://dl.doubtnut.com/l/_ToW3Kq05lfOF


22. In the given figure , , find the

values of a,b and c.

Watch Video Solution

∠ACE = 43∘ and ∠CAF = 62∘

23. In the given figure,AB is parallel to DC.

 angle CAD  angle

CBD  angle ADC `

Watch Video Solution

∠BCE = 80∘ and ∠BAC = 25∘ . F ∈ d : (i) (ii)

(iii)

24. ABCD is a cyclic quadrilateral of a circle with centre O such that AB

is a diameter of this circle and the length of the chord CD is equal to

the radius of the circle. If AD and BC produced meet at P, show that

 .

Watch Video Solution

APB = 60∘

https://dl.doubtnut.com/l/_P5K3QO396QpH
https://dl.doubtnut.com/l/_lS11duZL0YfC
https://dl.doubtnut.com/l/_dVwK9a0BR5px
https://dl.doubtnut.com/l/_XAomofNBHx3m


25. In the figure , given below , CP bisects angle ACB. 

Show that DP bisect angle ADB . 

Watch Video Solution

https://dl.doubtnut.com/l/_XAomofNBHx3m


26. In cyclic quadrilateral ABCD , AD = BC

 , find : 

Watch Video Solution

, ∠BAC = 30∘ and ∠CBD = 70∘

∠BCD

27. In the given figure , AD is a diameter O is the centre of the circle AD

is parallel to BC and  

(i)  

(ii )  

(iii)  


Watch Video Solution

∠CBD = 32∘

∠OBD

∠AOB

∠BED

28. In the figure given , O is the centre of the circle .  ,

Find the giving suitable reasons , the measure of 

∠DAE = 70∘

https://dl.doubtnut.com/l/_RRGXuX0VhFYr
https://dl.doubtnut.com/l/_Nbyu9sNs6d2v
https://dl.doubtnut.com/l/_CczW3IFaz6Cy


(i)  


(ii)  

(iii)  

`

Watch Video Solution

∠BCD

∠BOD

∠OBD

https://dl.doubtnut.com/l/_CczW3IFaz6Cy

